AR y = 209 x O] HH7L -1, 2, o, &

o, a9 F27

@ 2 3 3 @ 4 B 5

@D 1



A y = ax + b O] =7} oS 13} A
Ze w, Ay = by +a 9] I LI} 2} y
2] 9= AR >

0] T
y=az+b

@ Al 1AREH
@ Al 2Ah2d
® A 3AREH
@ A 4r2d

G o]l APEWE 2]Uba] okt



T ARGy = 5r+ 8y = 3x+a 9 THm] WP i}

—
S
w

) 4 o, a o] 727

@D 4 @ 5 3 6 @ 7 ® 8



7

e 2ol 5 2 gHgol

Al

off aHdE & off 2Hdo]

o 2317}

[e]
ze vy
[e] [e]
’1__._7/-1’1__._

g7t
by 2

o}
7

4.

P> &



WaFo 2 3ukE ool 5 gt AP H A2 2ax — by + 2b = 0©]t

SF
[e]
i, &= a, boll Hske] 2a + b 9] GH27



